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t 1 a. Determine the transfer tunction ffit";yste* 
shown ur FigQl(a)
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lH t b. For 1 mechaniual#fuslational 't:l1.l"f ft:ljl13,t"!ll'raw the electrical network

! + based on tgftu$Cunent analogy. Write itsffirformance equatton-
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s ,*T1T=o-z 5 a. Derive steady state err$i,thttl error constant. , 11-,. _-_:11^ ^r. 
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E , Deflne controller apd 
'Derive proportional Integral controller with advantages and
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B dl,sadvantag.s. *. * "
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4 a. Definettrevanlh&typesofsystemcompensationwithblockdiagram. 

(08Marks)

b. MentionJhe,fypes oi'ro*p.nrators and deiive lead compensator. (08 Marks)
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Eighth Semester B.E. Degree Examin+t#$ Juty/August 2021

Gontrol Engi neeri ng a-qq. $Automation
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Note: Answer any.@-S"1ull questions' ***drys
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gT ildtff#n*r h.i*..-n op.n toopmfutosed loop control system- (08 Marks)

aA b. For the 
Y:,eF, 

th"wn in Fis 92-(bh$"tt'-*tffiW Mason's gain formula'
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Sketch the root locus plot of a unity feed back wittr an @Ur%op 
transfer function'

K * *u'
G(s)=@ j;.
Determine : i) Gain Crossover Frequency an0ffi$u *'19,T 
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(10 Marks)

(06 Marks)

(10 Marks)

the root locus or not

: (06 Marks)

b.

6 a. Sketchthe Bode Plot for G(s) H(
s+2)(s+20) "r ;u *.
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. Find whether t*Sft-s fies on

.

b. For the sYstem with G(s) H{%T
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using angle conditions',g\ *

7a.
b.

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

8a.
b.

9a.
b.

10 a.

b.

. s.[

s

a*:r..r

,*' :: #:
FS )
SEfu -

i'd
I *:

..riil

.{;

J&:rffii",&

q **P' &

Q*;:,ffi1 
.

dt

+Wi*#+

& ,@" "

"if

"..ry:.#,
u

2 of2

.4&i]il$F:.

I .* iqw

.+

$F::!i$ffii!+

:Iwfu,r. 
u'

Si-:.{e,:'

with the help of n*t argrun, explain wo_rkTg. of piston cooling water system'
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aoniorrci oP-erates? ExPlain
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With a,riililtetch, explain marine Boiler combustion control system'
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